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1.The length and breath of a

rectangle are 15cm and 12cm
respectively. If the rectangle is
given (one full rotation)about its
breadth as the axis, what is the
volume (in cm3) through which
the rectangle move?

TF 3T A da@r 3 Gl=E
A 15 ¥4 3y 12 J &)

& IRd: TH qof
mﬁmm%a’rm
(#Fﬁ ) F1 T e AeaH
¥ AT GHAT 37

a)2160m b) 1440
c)1800 2700
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2. Two rectangular sheets of sizes
un um 2t X 4w and are available. A

2 2T hollow right circular cylinder can
K be formed bya pair of

parallel sides of any sheet. What is

| u’v ‘1 the maximum possible volume of
[ wn— the circular cyIinde;z that can be
2n {Q D formed this way?  YYadm-2bwmh

2T X 4w AN HY & IAAHR

N ofic 3yaretr & AT ofic &
=Y 2 AR st B AEHE
@relt JeeT mﬁmmm gl
wE ¥ AT
Tl“ (AL %mem?
L a) 4 m? H8m?
c) 1.25 n? d) 6.25 m?

7
| CDS 19 Nov 2017 |



[ 3. Three rectangles Ry , R, and R3; have the

Their lengths x; , x, and x5
respectively are such that x; < x; <x3.1fV

, V, and V3 are the volumes of the cylinders
' formed from the rectangles R; , R, and R;

b <M respectively by the parallel _sides
| /\ along the breadth, then which one of the

8x3 following is correct?

Vﬂ\wmo(b/v\(a% '2% 2 iy et R, , R, 3K R; &7 &%
{ € XM ZoreT B| IR TEETEAF FAW: x; , X,
Tv*h 3ﬂT7533“"33’7“'%'%’7751<7€2<3\7371""|

af& Ry , R, 3R R; ¥ 9Is1$ arell @A
HATHT A SAZH TAC AT A=l &
Hgaa AL Vv, I v, § ar

9«7‘19:,5)‘@

Afaf@a & ¥ Fiaar & @@ 22

a3 <Vy<V; b)V,<V3<V,

s W< Va<ls o WasVi<ys
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u- Two rectangular sheets of paper each

9
30cm X 18 cm are made into two
b right circular cylinders, one by rolling

the paper along its length and the

26 other along the breadth. The ratio of
l»_ - — the volumes of the two cylinders thus
b —'%-3 formed, is:

9ot Aol & A BT AT
S|

a)2:1 b) 3:2

c)4:3 ﬂ5:3




Rolling & rotating (Cone):
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5 A right triangle having
hypotenuse 25 c¢cm and legs in

V)
\%% the ratio 3: 4 is made to revolve
P 031-.?0) about its (hypotenuse.) (=
31v X"%Y'?;"S: 3.14) What is the surface area of
{Ov the double cone so formed?

[ 20  \\U& AT e, forasr #of
25 cm 3R il'lﬁ ar HGITBAT Y|
1318.8 Toyas m34%aﬁmw
Y - ¥ 56 & gwmn S #| 5w
YhR §F &l am&ﬁ aThd FIT
gNN? (7 = 3.14)
a) 1101.2 cm?
b) 1111.4 cm?
c)1310.4 cm?
/{1318.8cm2
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6-A right triangle having

hypotenuse 25 cm and legs in
the ratio 3: 4 is made to revolve
about its hypotenuse. (=
3.14) What is the volume of the
double cone so formed?

T gAMO Buer,  SEer
ﬁZScmBﬁTaﬁiﬂﬂﬁTﬂT
FT AT 3:4 T, F ZqF
Fof & & S gATT AT §
39 YR & amaﬁa»'r
ma?rmavn'?(n_sM)

a) 3124 cm? b) 3424 cm?
3768 cm?

d) 3924 cm?3
|CDS 201411 | 14




7. Which of the following statements is/are correct?
The volume of the cone generated when the triangle is made to
G revolve about its longer leg is the volume of the cone
(1 generated when the triangle is made to revolve about its shorter
Ieg
b X The sum of the volume of the cone generated when the triangle is
made to revolve about its longer leg and the volume of the cone
generated when the triangle is made to revolve about its shorter
_‘_ leg is equal to the volume of the double cone generated when the
triangle is made to revolve about its hypotenuse.

ﬁmﬁﬁ?r$ﬂ?ﬁﬁ'€m/@"ﬂﬁ%/%7
% 1. F3t arelt e & IRag Bgsr N aRwaor =  afaa aF
H1 AT, BIE aTeh 3o & IRAE BT HY IREHHT FA

#aﬁaew%m%mm
aﬁmﬁm*qﬁaﬁmaﬁmmﬁaﬁaam
*mammmsﬁma:qﬁagﬁﬁaﬁqﬂamw
?ﬂlﬁ#GlﬁH%ﬁ*Mﬂzﬁar wa;qﬁa?ﬁmras‘r
qﬁwwamﬁ#aﬁaaﬁem%m%mﬁ

a)l only b)2 only c)Both 1 and 2 ﬂNelther 1nor2
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Frustum (f59%) concept:
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Find the ratio of volumes of different parts:

Cut at a height of%rd
from the bottom




Find the ratio of volumes of different parts:

A 232 =55

Yol 21 512S

Cut at a height of 40% = 2
from the base S




4. A cone is cut at mid-point of
its height by a plane parallel
to its base. The ratio
between the volume of two

D) ! parts of cone would be
et o # swhr IS

@ |1 § HET AW F FET AT
gl 9F F ot smE ¥
mmmw

o

LR
a)1:1 b)1:8
c)1:4 M1:7




2. A regular triangular pyramid is cut by

. 2 planes which are parallel to its
CID)}\ | o2% 3 base. The planesthe altitude
. | of the pyramid. Volume of top,
Yo| |5 & . 27 middle and bottom part is v, v,
’\/\/ ' and v3 respectively. What is the
_Z | @ _' value of v1: V5: v3?
= = , F g PeeR Rafds @
YR & WHAEEER & FHT

& MMAdA FAA: vy, v, dGT vy
%l V1:V2: V3 I HAlel FAT %’?
a)1:8:27 b)1:8:19
c)2:9:27 ﬂ1:7:19

| | 23




3. A right pyramid_has a square base with
side of base and the height of
pyramid i The pyramid cut in three

parts of equal heights by two planes
parallel to its base. What is the ratio of
the volume of the top, middle and the
bottom part respectively?

Th A AUAT FT IMUR 4cm =T
greT U g1 g daur Rfas fr 398
9cm & AT &+ 38 IR &
HATAY &I dell @RI AT 3918 &
dieT ST A FIET IAT § HFAW 3U,
ALY dur e N & IaA FT
IeTITe FAT 872

a)i:8:27 J61:7:19

c)1:8:20 d)1:7:20

|CGL 2017 T-2 | 24




Y. A right pyramid has a square base
with side of base 12 cm and the

h |+ 2 1% (1 height 40 cm. The pyramid is cut
(‘I | into four parts of equal heights by
. . L .
\/0] @. A 27 » three cuts parallel to its base. What
é\/ \é ' is the ratio of the volume of the four
@ ! parts?
) UF TSR IR g A

e
a)1:8:27:70 b)1:7:19:47
1:7:19:37 d)1:8:27: 64




5. The radius of base of solid cone is 9cm
and its height is 21 cm. It cut into 3

QD)A 1+ 2% 2 parts by two cuts, which are parallel to
7 its base. The cuts are at height of 7 cm
<L ° 9 and 14 cm from the base respectively.
(2 .D) —'\/\/ What is thefratio)of curved surface areas
3 5 of top, middle and bottom parts

- respectively?

THh 3 AF & IR 1 BAT 9 cm
%Hﬂﬁ%ﬁﬁ'm cm B 30 @
e, Sif YR & FTHAECET &, 4 3
T H FIeT TAT | Fed HUR A
HHAW: 7 cm dAT 14 cm Y 39§ I g
FHA: I, ALY JUT AT I F
aﬁmaﬁmmm@r—rw%?
a)1:4:8 ﬂ
c)1:3:9 d1 2

| | 26
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é é é- A plane divides a right circular
cone into two parts of equal

VO?- | 2 ’ 1‘ volume. If the plane is parallel to
1 the base, then the ratio, in which
‘Y/h /l | « 3= (0] ! the height of the cone is divided,
is
9
0 i 2 sar et AF F IR &
| " ar REat #F Frer s

GUEIRACH %wﬂa:rma?r
AT & ar ama‘»‘rﬁré

N2-| ﬁmm#ﬁmﬁaaﬁ?
1:32 -1 b)1: 32 + 1
b) 1: V2 d) 1:vV2




7. The height of a cone is 45cm. It is
cut at a height of 15cm from its
base by a plane parallel to its

. base. If the volume of the

V0 I g\‘}? 7 30 smaller cone is 18480cm?3, then

\/ what is the volume (in cm3) of
7 5 the original cone?
- WQI?Q%HI%’45cmg'|3'€
YR & 15 cm FW TH dd

a) 34650 b) 61600
c) 36960 # 62370

| | 28




8 A pyramid has square base. The side of
square is 12 cm and height of pyramid is
21cm. The pyramid is cut into 3 parts by 2

—

cuts parallel to its base. The cuts are at

height of 7cm and 14 cm respectively from
T — E—

the base. What Is the difference between

(in cm3) in the volume of top most and

bottom most part?

TF RIfAT &1 3R v a9t g aef i
ST 12 cm 4T AT #i 391 21 cm
3 ARz & 38F IR § AHAEGR
2 FeEl ¥ 3 HET H Frer AT
Fed YR T FHA: 7 cm dAT 14 cm &Y

A672  b)944 786  d) 918



9. An inverted right circular cone has a radius

| 3
T/F
Y=

of 9cm. This cone is partly filled with oil
which is dipping from a hole in the tip at a
rate of 2 cm3/hour. Currently the level of
oil“3cm from top and surface area of oil
surface is 36T cm?. How long will it take
the cone to be completely empty?

wmwmmamaﬁrﬁw

a)2 161t hours b)72m hours
c) 108m hours ﬁ361t hours

| 77 | 30
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Jo-The height and radius of a right

circular cone are respectively 21
c¢cm and 9 cm. The cone is cut by a
plane parallel to its base so as to
divide it into two parts. The
volume of the frustum of the cone
is 1254 ¢cm3. The radius of upper
circular surface of frustum is

Rl o @1 FS AR P
$HHAAY 21cm IR 9em B 39
AF P HYUR & FA HIeT
Sar # iF F Bewrw @@
HaT 1254 cm3 ¥ Beaad &
38t e smer @ B =
grair?

a)4 cm /ﬁ 6cm

c)5cm d) 7 cm
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